State Benefits
Test
1.	From which year did the New State Pension replace the Basic State 	Pension/S2P?
a) 2011
b) 2014
c) 2016
d) 2017
2.	How many qualifying years are needed to be entitled to the full New State 	Pension?
a) 10
b) 20
c) 35
d) 40

3.	Which of these State benefits depend on National Insurance contribution 	conditions? (pick three)
a) Bereavement Payments
b) Child Benefit
c) Council Tax Benefit
d) Housing Benefit
e) New Style Jobseeker's Allowance
f) Statutory Maternity Allowance
g) Statutory Sick Pay
4.	Which one of the following best describes a contributory benefit?
a) Contributory benefits are index-lined to earnings
b) Entitlement depends on residency
c) Entitlement is linked to National Insurance contributions paid or credited
d) The New State Pension is now the only contributory benefit

